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MT-03
December - Examination 2018
B.A./ B.Sc. Pt. | Examination

Co-ordinate Geometry and Mathematical
Programming

Paper - MT-03
Time : 3 Hours ] [ Max. Marks :- 66

Note: The question paper is divided into three sections A, B and C. Write
answers as per the given instructions.
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Section - A 6xX1=6
(Very Short Answer Type Questions)

Note: Section ‘A’ contains Very short Answer Type Questions.
Examinees have to attempt all questions. Each question is of 01
marks and maximum word limit may be thirty words.
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1) (i) Whatis enveloping cone.

SFFTeAIdY 9T T BIT @ ?

(1)) What is the angle between generator and axis of a cylinder?

Sof b1 ST a1 319+ 3187 A fohat feift ot piur STt 82

(ii1) Define cubic curve for conicoid.

Sefgecst & forg Brema asp @1 aRefvd s

(iv) What is centre of the conicoid?

ot 9TTepasT T Shrg T BT & 7

(v) Define Optimal Solution.

$SCdd gl URHINT BRI |

(vi) State Reduction theorem.

R T9y foRa |

Section - B 4 X8=32
(Short Answer Type Questions)

Note: Section ‘B’ contain 08 short Answer Type Questions. Examinees
will have to answer any four (4) question. Each question is of
08 marks. Examinees have to delimit each answer in maximum

200 words.
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Find the equation of sphere which posses through (1, —1, 0) and
touches x* + y* + 22 +2x — 6y +1=0 at (1, 2, -2)
875 (1,1, 0) A TOIRA dTet S et BT FHIBRU STl BRI ST b
Mel & + )" + 27+ 20— 6y +1=0 B &5 (1,2, -2) TR Tl el

2|

Find equation of cone whose vertex is (1, 1, 0) and guiding curve
'+ A =4, y=0

I 9P DT FHIHR S1a DIfoTg Rrent o (1, 1, 0) T2 Figes
TH > +22=4,y=0 B

Find right circular cylinder whose radius is 2 and axis is
x—1_YV_z—3

2 31
Uh o d Jaiig ool Dl BodT 2 T 3787 T FHIDRUT
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Find the centre of conicoid.
2x° +200" +182° —12yz + 12xy + 22x + 6y — 2z —2=0
MBS 2x> + 20)° + 182> — 12yz + 12xp + 22x + 6y — 22 —2=0 &

I & FAdeTd S DR

Solve by Graphic method:
Max z=2x+5y

Subjectto x <y , y <3000 ;x,y =0
T faftr | gat IR
ARpaT HIRR 2z =2x + 5y
g x<y ,y<3000 ;x,y>0
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7)  Find dual of the following LPP

Max Zp=x, +x,+x,
Subjectto  4x, +3x, + x; =8

X, t2x,+5x, =7, x/,x,,x;20
=1 INgPp T TR P AT Gt TARAT ST PR |
AP Zp=x, +x,+x,
PISERC] dx, +3x, +x,=8

x, +2x, +5x;=7

aar X, Xy, %20

8) Solve assignment problem
D, D, D,
20 27 30
10 18 16
; 14 16 12
I T BT & BRI

Dl D2 D3
0, | 20 | 27 | 30
o, | 10 | 18 | 16

O 14 16 12

1

2

©|1O |0

9) What is the relationship between Primal and dual problem?
3T TUT & AT | FIT T Y g ?
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Section - C 2X14=28
(Long Answer Type Questions)

Note:  Section ‘C’ contains Four Long Answer Type Questions.

Examinees will have to answer any two (02) questions. Each

question is of 14 marks. Examinees have to answer in maximum
500 words.
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10) Identify the surface

11)

2x2+y2+zz+2yz—22x—4xy+x+y=0

and find principal axis

FHIPRO 25>+ )* + 22 + 2z — 2zx —dxy +x + y =0 GRI UGRfd
USS ST hIToRI eI T g 31eT 1 S IR |

Solve the LPP using simplex method

Min Z==Xx —Xx,

Subjectto  x, +x, =<2
X, —x,=1
x,,x,20

frefeiRac YRaep TR T a1 ReedelT ff GRT g1 s hiford|
s Z=—x —x,
PINERS] x, tx, <2

x,—x,=1

x,,x,20
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12) Solve the following transportation problem

D, | D, | D | D | a
O, | 5 | 7 | 13] 10| 700
O, | 8 | 6 | 14 | 13 | 400
O, | 12| 10 | 9 | 11 | 800
b, | 300 | 600 | 700 | 400

=1 aRegT TR 8T BT

D, | D, | D | D | «

5 7 13 10 700
13 400

12 10 9 11 800
300 | 600 | 700 | 400
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13) Find equation of cone through six normals.

B: M | STATel AP DT FHIBRU ST PRI |
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